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Fror— 1. 5 w73 ot 1

All the questions are compulsory.

2. Yok weR 1 I & - g § @ ford

Write the answer to each questions in the given answer book only.

|ug-A
(Part-A)

AfeergmoTs- |
T GE | W 14 0% TE F FHIR T 2
(Mark weight of every questions from 1 to 14 is one)

|. =g {1, 2) % 39-g=ad &I g farau
Write the number of subsets of set {1, 2}.

2. 9f% A4 ={a,b)T B =lc,d}T@ Ax BT BT
Find the A x Bif A4 = {a. b} and B = {c, d}

3. 3afQ (.r—l, v+ ‘—}J:(S,O}L a x 41 y& HE F ??

. |
What is the value of xand yif (x -1, y+ ;} =(5.0)

4. 3TER G F(x)=K 1 I 2l
Range of constant function F(x)=K
5. cos (3m) 1 HIA fafam)
Write the value of cos (}n}
6. 2 Tfeam Hi A ¥ foorg 22
Which quadrant two radian stand in?
7. 12 +28 473 b 40t T
2422+ 3 n* equal to.
g | + i1 0T FI 8?7
What is the argument of 1 +i?
9_(J§+f)’a;rnmﬁirmafﬁ:m{|
Out the modulus of(ﬁ +i).

0. 30x < 10071 e i@y 9@ xe V.
Write the solution of 3x < I0whenxe N.

| |=iaﬂx3ﬂﬁﬁw ?
ll.’l‘;+~; 3 %

) I R
lu f —_ e e
what is the value 0 xwhert”+2!q=ig
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12.°Co +°C, +°C, + °C, + °C, + 5C5$I"Tl"'1'#i
Valueof °C, + °C, + °C, + 'c, +%C, + °Cs.
13. Taed y? =dax F1 W fofan)
Write the vertices of parabola y* =44y,
14. TF %91 F e fafigu
Write the eiample of a statement,
w|ues-9
(Part-B)
T2
W HE 15/ 20 T TAE F1 FHUR 2 3
Mark weight of every questions from 15 to 20 is 2.

15.99 x* + y* + &+ 10y - 8= 01 %% 9 foreqr 71 FHifmm 2
Radius and centre of circle x* + y* + & + 10y -8=0

16. TF Waea 1 FHiwto 3 Fifa frrm ¥ (0, 0) 3tk 1w (0, 3)
Find the equation of parabola whose vertices and focus are (0, 0) and (0, 3).

17. tan 3y=—&+%mmmﬁm|

Slope of line 3y = —5x + 7;-

=

18. %9 2 & dfinyg we 7 € a1 fee fafay
Write the Negation of a statement +/2 is not a com plex number.
19. 9 x T 319w T 7, A x e } F s ol el wo

Write the contrapositive and converse of statement x is a prime number thevexis odd.

20. 9T & WY Weg famer w1 g fafan
Write the formula of mean deviation with respect to mean.
@us-H
(Part-C)

~J

YIRS
I TS 21 | 27 0% FAF F FFUX 3 2
Mark weight of every questions from 21 to 27 is 3.
21. TF FH A 50 SAfem ¥, 20 AfE A oik 10 = T otk 5w <R @ s @)
ﬁam%im#mﬁaﬁﬁﬁﬁwﬁﬁﬁmﬁmwwﬁamﬁfg; 3

In a committee, 50 people speak French, 20 speak Spanish ang 10 speak both Spanish and
French. How many speak at least one of these two languages?

22. f(x)=yfx~ | B R A T /7 Wi 7 Wfow g i -
Find the domain and range of defined by real functjon )= x-1.
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23. tan %‘m A . Ff 3
Find the value of tan %
(3-2i)(2+ 3) :
24. &l Hﬂ“ﬂ' I Hifg
(1+20)(2-4) 3
Find the conjugate of (3-2)C+ 3‘).
(1+2))(2-1)
25, THHTO 52 4 x4 - = 0 ¥ T ST
V2 . 3
Find the solution of equation x* + x + JE =0
26. JHUNJHUNU ¥i% & a78R % fefet farmar afTg o e €7 | 3
In how many ways can the letters of the word JHUNJHUNU?
27, 3THEN 6,7, 10, 12, 13, 4, 8, 12 F T 64001 7a #ifU) . 3
QOut the variance of data 6, 7, 10, 12, 13, 4, 8, 12. -
Ts-g§
(Part-D)
frEaTe (Essay Type)
Y TE1 28 | 29 9F TAF F1 HUR 4 R
Mark weight of every questions from 28 to 29 is 4.
28. AW ne N & fau nfvwa smmA fagia & s&am g fag Fifee fF— 4
PRI S S L
2 4 8 2" 2"

29. 45% 3 F 1125 Tl e A e vt firemn sme 6 wftomd fasror & anat 25% @
A% T 30% ¥ F9 ¥ w2 4
How many litres of water will have to be added to 1125 litres of the 45% solution of acid so
that the resuiting mixture will contain more than 25% but less than 30% acid content?
gue-§
| (Part-E)

Fraarers (Essay type)

T W1 30 9 32 9% TAF F1 SFUR 5 3

Mark weight of every questions from 30 to 32 s 5.

30. 9% FMIT (Prove that) :

sin x -sin 3x ) 5
=2sin x

sin’ x —cos? x
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3194170R
HHIFTO F T & T Fify—
Find the general solution of equation :
sec’ 2v = | - tan 2 .
3LTWR v - V3v-5-0ah V3, oo 0% A I A FHH 5
Find the angle between the lines - v-y3x 5=0andV3 y-x+6=0
9dl/OR

TS x - 7y+ 5=090 3+ 1= 03 yhreire g A Wl TE 3 2780 35 7 o

THieo J1a Fif

Find the equation of the line parallel to y-axis and drawn through the point of intersection of

the lines x - 7y + 5=0and 3x + y=0
32.%&%@'%%%1%@%%— 5

Find the standard deviation of following data :

X, 3 8 13 18 - 23

2 7 10 5 10 6

3FEVOR
aéaﬁwﬁamguﬂaﬁsoamm%aﬁtw%wﬁamm:zl 3k 16 % 97 7%
e w14t B2 -

Coefficient of variation of two distributions are 60 and 70, and their standard deviations are
21 and 16, respectively. What are their arithmetic means? o



